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#include “filename”
#include <filename>
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#include

#include “filename”
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#include <filename>
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typedef struct { 724 § A4
int num;
char name [20];
} Student;
void exchange (int *, int *);
Student *sp; /] 5859 Ad
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#include "myheader.h"

int main ()

{
Student s1;
sp=&sl;

}
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typedef struct {
int num;
char name [20];
} Student;
void exchange(int *, int *);

Student *sp;

int main ()

{
Student s1;
sp=&s1;
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#define 7dentifier token_string,,.
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#define 7dentifier(id_1,..., 1d_n) token_string,,.
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° (Oﬂ) #define MAX SIZE 100
#define PI 3.141592
#define EPS 1.0e-9
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#include <stdio.h> // O R0 = stdio.h of| C{ ot 2| L} &0| = gHEICE,
#define PI 3.14159
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int main()

int main() {
{ double radius;

double radius;

_ printf("H | HIX| E S UEHSIHR : ");
printf("# 2| HIX| ES YHSIN R : "); scanf("%lf", &radius);
scanf("%If", &radius);
printf("# 2| =& : %If\n", 2*3.14159*radius);

printf("# 2| E& : %If\n", 2*PI*radius); printf("® o] HA : %Ilf\n", 3.14159*radius*radius);
printf("# 2| HH : %If\n", PI*radius*radius); return o; // A 2Ho| AZto 2 x|
return o; }
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#include <stdio.h> #include <stdio.h> L3
#define EXCHANGE_RATE 0

int main(void) int main(void)
{

{ g 1050
won1 = 1 * dollarf;

won2 = 1)@ * dollar2;
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won1 = EXCHANGE_RATE * dollart;

won2 = EXCHANGE_RATE * dollar2;
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#include <stdio.h>

#define PI 3.14159 // AR89

#define LIMIT 100.0 //W3AZR&+ 82

#define MSG "passed!" //=XNESMIAZF2= F2|

#define ERR_PRN printf("H¢ & Ho{SH&LICH\n")
// EHES 1 ARFE2E 9|

int main()

{

double radius, area;
printf("HX| § S YHSIMHR : ");
scanf("%If", &radius); // 9X| & & H
area=PI*radius*radiusy/ H=X #| 4

if(area>LIMIT){ /] HAO| otAIZt S o™
ERR_PRN; // oll2] HIA|X| & Z=SHCt.
h
else{
printf("#{ 2| HA : %.21f (%s)\n", area, MSG);
i /) AEX| $o® HEI 2XpH £
return oO;
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#define  SECONDS_PER_DAY (60 * 60 * 24)
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#define PI 3.14159
#define C 299792.458 /*speed of 1light*/
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#define identifier t_str
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#define EOF (-1)
/* typical end-of-file value */

#define  MAXINT 2147483647
/* largest 4-byte i1nteger */
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#define do /* blank */



#define 7dentifier(id_1,..., 7d_n) token_string,,.
o AW identifier@t 215F 22 ALO|0|= S80] £}

ofof 3}
- D74 220 A YR} QAL EE 0f2 7}
g9l




RN
2 3= (XS &= 3 E)

. 8/ 03 Z(function-like macro) 2t Ol A 27} &
=M 0 He=E 71X = A

. (0]) #define SQUARE(x) ((x) * (x))

QQ() #define SQUARE(X) ((X) * (X

o O
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V = SQUARE(3); ‘ v = ((3)*(3));
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#define SUM(x, y) x+
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SUM(, y) X+y=E 2|3

SUM(a, b) atb=z %3k

TEQUAIL CHEH X &2 = EXIE0| CH=nH

#define SUM(x, y) x+y

int x=10, y=20;
int a=100, b=200;

printf(“x+y = %d\n”, SUM(x, v));
printf(“a+b = %d\n”, SUM(a, b));



0
Sk O3 20| RIEHA

O - O
- B 2E A Q0| M 2Tt At
- &2 FEO| 0|7 ZOjTIC

t

L .

UESH 7| S2 MMAZS AME

= #define MIN(x,y) ((xX)<®)? & :({))
= #define ABS(x) (x)>07?((x):-(x))
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o> #define PRINT(x) if( debug==1 &&|\
. mode==1) |\

printf(“%d”, x);
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==>a+b*a+b=z((@+Db)* (a+ b))
#define SQ(x) (x) * (xX)

==> 4 / (2) * (2) = (4 / ((2) * (2))
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#define sQ x) ((X)

: SQ(7) => (X)) ((x) °

#define sQ(x) ()

1fF (X == 2) x = sQ(y);

else ++x;
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if (x ==2) x = ((y) *
else ++X;
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#define MUL(x, y) x*y
printf(“%d\n”, 30/MUL(2, 5)); //HXz2| E|7] He| A

printf(“%d\n”, 30/2%5); // HXZ| € 0|9 3
Liz/do] HX 4t EICH

#define MUL(x, y) (x)*(y)) // SEEXIEQ Zt 2XIE
printf(“%d\n”, 30/MUL(2, 2+3));

printf(“%d\n”, 30/((2)*(2+3)));
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#include <stdio.h>
#define PI 3.14159 // 2245 "ol
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int main()

{

double radius;

printf("HX| S AEHSIM R : ");

scanf("%If", &radius);

printf("H 2| HHE L2 : %.21f", PI*SQUARE(radius));

return oO; // A2t |32 +E AF_st0] Yo HAE S oict,
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#define min(x, y)
#define mind4(a, b,
#define sSQ(x)
#define CUBE(X)
#define F_POw(x)

(Cx) < y)) 72 (x) :
C, d) min(min(a, b),

((x) ° (X))
(sQx) * (X))
sqrt(sqrt ((CUBE(x)))
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typedef int ptrdiff_t; /* pointer difference type */
typedef short wchar_t; /* wide character type */
typedef unsigned size_t; /* the sizeof type */

#define NULL ((void *) 0)
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stdio.he| O =
- getcQ &t putcQ &
- getc() : Y =FH ot ZAHE 2=
> putc() : ItYOf| oF EXIE &9
. getchar(O &t putcharQ D132

#define getchar() getc(stdin)
#define putchar(c) putc((c), stdout)
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isalpha(c) c/t =X O

isupper(c) ¢’ CHEZ AL

islower(c) c/t A=A O

isdigit(c) c/t =Xt

isalnum(c) c/t SEArLE =AY [

isxdigit(c) c/t 167 =X+ [

isspace(c) ¢/} &t -.'?_-X 2

ispunct(c) c/t 5 - I

isprint(c) c/t @144 7f'5 o =Xt
isgraph(c) c/} SEH0| Ot QIxf 7=t =AY MY
isentrl(c) c/t MOl =Xt

1sascii(c)

c7} ASCII 2 E < [




toupper(c)
tolower(c)
toascii(c)
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#endif
#ifndef 7dentifier

#endif
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#if defined(HP9000) || defined(SuUN4)
&& !defined(VAX)

..... /* machine-dependent code */



#define DEBUG 1
#1f DEBUG
debugging code
#endif

#define DEBUG

#ifdef DEBUG
debugging code
#endif




statements

/ *

more statements
*/

and still more statements

statements

#f O

more statements

#endif

and still more statements



#include ' everyting.h"
#undef PIE
#define PIE "I li1ke apple.”
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_ TIME
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#define message_for(a, b) \
printf(#a " and " #b ": we love you!\n")

int main(void)

{
message_for(Carole, Debra);
return O;



#define X(1) X ## 1

X(1) = X(2) = X(3);
- MA2|7] &3 Zo| Zqf.
x1l = x2 = X3;
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#include <assert.h>
void f(char *p, int n){

assert(p != NULL);
assert(n > 0 & n < 7):
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#if A_SIZE < B_SIZE

#error "Incompatible sizes™

#endif
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